HHT=CIXCL TET=CIXIT OTI=CTXOT 8OT=CILX6 96=TIX8 »8=CTXL
CTL=CT X9 09=CT X G 8Hh=CL XH 9IE=CTL X € HC=CIL X T TI=CI X1

1X12=12 2X12=2¢4 3X12=36 4 X 12=48 5X 12=60 6 X 12=72
7X12=8¢ 8X12=96 9X12=108 10X12=120 11X12<132 12X12=1%44

HHT=CIXCL TET=CIXIT OTI=CTXOT 8OT=CILX6 96=CIX8 »8=CTXL
CTL=CT X9 09=CT X G 8Hh=CL Xh 9IE=CT X € HC=CIL X T CTI=CI X1

1X12=12 2X12=2¢4 3X 12=36 4 X 12=48 5 X 12=60 6 X 12<72
7X12=8¢ 8X12=96 9X12=108 10X12<120 11X12=132 12X12<1%4

WHT=CIXCL TET=CIXIT OTI=CIXOT 80T=TILX6 96=CIX8 #8=CIXL
CL=TT X9 09=CT X G 8Hh=CT XH 9E=CT X € HT=CT X T TI=CTL XT
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